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IFINF— T D, EvINVRDTF v 7 R—ILOIEDEE= V1 =4 /3 X 3.14 X (5.976Km)3 = 893.5Km3
HOHLED T 4 L F —=E1 = 1.161 X 1035JKm ~+ (5.976Km ~+ 2) = 1.161 X 1035JKm - 2.988Km = 3.886
X 1034J B ZNVED T 5 v 7 R —ILDERED T 2L F—= V1 X E1 = 893.5Km3 X 3.886 X 1034J = 3.472
X 1037JKm3 2. FHOFLDT T v 7 KR—ILDERIEDZ X LF =13\ 5y FHEROFLDTZ v 7 K—1LD
BREDZ AN F—IXFHOHFLD T T v 7K=LV DIEKRDEBEX FHOHFLD T Z v 7 F—LOEREDHE D#L
BOILANLX—, T 5, FHOFLOD 2.631 X 1013 KFFEEDFEIX 2.804 X 1010Km TF, FHOHFLOD T
Z v 7 R—ILDEREDAEIE=V2 = 4 /3 X 3.14 X (2.804 X 1010Km)3=92.299 X 1030Km3 FHDOHF LD T 5 v 7
A=V DERAEDH R OHLED T 4L F —= E2 = 2.524 X 1027JKm + (2.804 X 1010Km = 2) < (9 X 1010) = 2
X 106J FHOHFLD T T v 7R —IVDERKD T 3 ILF —= V2 X E2 = 92.299 X 1030Km3 X 2 X 106J = 1.846
X 1038 Km3 3. HIB, VoI ANVEDT I v 7 RKR—ILOREDZ ANV F—133.472 X 1037 THH., Zhd
FHOHFLDT T v 7 HR—ILDERIKRD T 3L ¥ — 1.846 X 1038 12> 7z,



